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PHYSICS

Curie temperature is the temperature above

which:-

(1) Paramagnetic material becomes ferromagnetic
material.

(2) Ferromagnetic material becomes diamgnetic
mateiral

(3) Feromagnetic material becomes paramagnetic
material

(4) Paramagnetic material becomes diamagnetic
material

The velocity v of a particle at time t is given

b
by v =at + T, where a, b and ¢ are constants.

t+c
The dimensions of a, b and ¢ are respectively:-
() LT-2, Land T (2) L2, T and LT?

(3)LT2, LT and L. (4L, LT and T2

The equation of state for 5g of oxygen at a
pressure P and temperature T, when occupying
a volume V, will be :—

(1) PV=5RT (2) PV = (5/2) RT
(3) PV = (5/16) RT (4) PV = (5/32)RT
where R is the gas constant.

One mole of an ideal gas at an initial
temperature of T K does 6 R joules of work
adiabatically. If the ratio of specific heats of this
gas at constant pressure and at constant volume

5
is -, the final temperature of gas will be :-

5
(1) (T -2.4) K (2) (T + 4) K
3) (T -4)K (4) (T + 2.4) K

If a ball is thrown vertically upwards with speed
u, the distance covered during the last ‘t’
seconds of its ascent is :—

1
(1) ut @ et

(3) ut - %gtz (4) (v + gt

The vector sum of two forces is perpendicular
to their vector differences. In that case, the
forces :—

(1) Are equal to each other.

(2) Are equal to each other in magnitude.
(3) Are not equal to each other in magnitude.
(4) Cannot be predicted.
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(1) PV = 5 RT (2) PV = (5/2) RT
(3) PV = (5/16) RT  (4) PV = (5/32)RT
et R g frmes @

feor e e feer s W fafyrse et & %
STIT STl U TS I 1 U A Ty A A
6R & T w1 Al T 1 i aa T K
&, 0 @R af<m arg B -

(1) (T-24) K @) (T + 4) K

(3) (T-4)K @) (T+24)K

A T e il FearER e A FRE SR u T W
ST, T ST Sel TR T At afa t Aeruel
H =t 8 g At -

(1) ut @ et

(3) ut - %gt2 @) (u + gt)t

St il =T WGl AT S WG SR & e 8 | §6
fefa & :-

(1) 9 T TR S g

(2) St =TGR TF IR o B

(3) st =1 IR T TR e T 2

(@) sl & = S we G T ¢
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10.

1.

12

An observer moves towards a stationary source
of sound with a speed 1/5th of the speed of
sound. The wavelength and frequency of the
source emitted are A and f respectively. The
apparent frequency and wavelength recorded by
the observer are respectively :—

(1) 1.2f, 1.22 2) 1.2f, A

3)f, 1.2 (4) 0.8f, 0.84

An ideal gas heat engine operates in a Carnot
cycle between 227°C and 127°C. It absorbs
6 kcal at the higher temperature. The amount
of heat (in kcal) converted into work is equal
to :—

(1) 4.8 (2) 3.5 3) 1.6 “4) 1.2
Water is flowing continuously from a tap
having an internal diameter 8 x 10-3m. The
water velocity as it leaves the tap is 0.4 ms-1.
The diameter of the water stream at a distance
2 x 10-1m below the tap is close to :-
(1)9.6 x 103 m (2) 3.6 x 103 m

(3) 5.0 x 103m 4)75%x103m
Two particles of equal mass (m) each move in a
circle of radius (r) under the action of their mutual
gravitational attraction. Find the speed of each

particle.

mm
y Sm @ [Gm 1 [Gm
M5 O——F= Oy @Gy~

The height at which the weight of a body becomes
1/16'", its weight on the surface of earth
(radius R), is :-

(1) 3R (2) 4R (3) 5SR (4) 15R
Two springs of force constant K and 2K are
connected to a mass as shown below. The
frequency of oscillation of the mass is :-

2K

M

3K 6M 1 3K 1 | K
(1) ™M (2)ﬂ\/? (3) E\/% @ ;\/m
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T U&Th U feoR waf W 1 IR taf1 = i
1/5 91t Q =/« W@ 81 G 9 Ieafsta aoreed sk
g wHg: A SR f €1 Yeres gra g g s

st it wmeed W ¥ -
(1) 1.2, 1.2a (25 198 %
(3) £, 1.21 (4) 0.8f, 0.8

e SIS 19 501 57 Sl-=sk § 227°C 3R 127°C
% o HE WA B T T IS a9 9T 6 keal
IOT KT IASOT HT § | T ofiafda 3591 F "
(kcal ®) Bt :-

(1) 4.8 (2) 3.5 ?3) 1.6 4) 1.2
3T =4 8 X 10-3 m T T et | 9 AR
werTfed & a1 & | SR € a2 R sk ot ) 9
%1 A7 0.4 ms-! 1 2t & = 2 x 10-! m 1 g
W U] F YR W S TS T © -

(1) 9.6 x 10-*m (2)3.6 x 103m

(3) 5.0 x 10-3m (4) 7.5 x 10-3m

S UM SHM (m Yedeh) & 01 3= THch ol
% g | ¢ = ot gaehR v W w #
Ydeh U1 =t AT6T 1A i |
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(1) 3R (2) 4R (3) 5R (4) 15R

= Fdie K 92K o1 31 e fesgan t gome
Y gafea o1 It ¥1 gomE w g € -

2K

M

hE /6_M3L\/£41/£
Wy @ g oM @D xiem
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13.

14.

15.

16.

17.

18.

Two close organ pipe having length 20cm and
20.5 cm produce 5 beats/sec. Determine the
frequency of both organ pipe.
(1) 205 Hz, 200 Hz (2) 324 Hz, 320 Hz
(3) 155 Hz, 150 Hz (4) 105 Hz, 100 Hz
Two vibrating tuning forks produce progressive waves
given by Y; = 4 sin 500nt and Y, = 2 sin 506 nt.
Number of beats produced per minute is :
(13 (2) 360 (3) 180 (4) 60
The velocities of sound at the same pressure in
two monatomic gases of densities p, and p, are
v, and v, respectively. If p,/p, = 2, then the value
v

i
of v, is :-

1
(1 _\/—5— 2)2 (3)% (4) None of these

Certain quantity of water cools from 70°C to 60°C
in first 10 minutes and to 54°C in the next
10 minutes. The temperature of the surrounding
is:-

(1) 45°C  (2) 20°C

(3) 42°C  (4) 10°C

A cyclic process ABCD is shown in the given

P-V diagram. In the following answer, the one that

represents the same process as in P-T diagram is :-
A B

P C

V—

P 12
M | e )

] A B ' A > B

P g P A A 4
3 | pec @)

N

C

T ot

A mass of 0.5 kg moving with a speed of 1.5 m/s
on a horizontal smooth surface, collides with a
nearly weightless spring of force constant
k=50N/m. The maximum compression of the
spring would be :-

| &

(1) 0.12 m
(3) 0.5 m

(2) 1.5 m
(4) 0.15m
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209 g 20.59H o1 % g §¢ AR UIsy
5 foreie/HenTs ST § | QM1 S UIsd <t STgf
T FHA |

(1) 205 Hz, 200 Hz  (2) 324 Hz, 320 Hz
(3) 155 Hz, 150 Hz  (4) 105 Hz, 100 Hz
3 P L g WA 599 Y, = 4 sin 5007t 31X
Y, = 2 sin 506 nt T G 39 R § | Ui fiee
< foridi &t wea gh:-

(1) 3 (2)360  (3)180  (4) 60
THA < W < Tk GAITvae 9 B p, | p,

FHEW: v, Ay, 13 pp, =28 :j_l Eal
= B0 ;-

1 1
) ﬁ 22 3) 5 (4) None of these

Tt i /@ "6 10 fie # 70°C 9 60°C T 3t
B e 37Tt 10 T B 585eht A9 54°C & el
B | ST SRl AT9HH Fd RIS ;-

(1) 45°C  (2) 20°C  (3) 42°C (4) 10°C

TS k4 YshH ABCD 1= fe@ T8 wsh P-V3m@
H yefsfa foran o &1 Frafafed sad 3 sim-w 35

YehH &l P-T 3@ § wefeld st & ?
A B
| !
D

o —
UE
a. wo
_
(®)
N’
O —
>

B

(1) !
— D

'

[A P | LI

Ok Cl @il 4

D o - C
— -
0.5 kg S 1 Uk faug wefor 4o Afast aa ®
1.5 my/s 1 7T wIeTe go el ST YIREH A
¥ THAA &1 FAF F T FERF k=50N/m 1
T 1 SAfshan wdte gl 2 -

T

[
(1)0.12m
(3)0.5m

(2)1.5m
(4) 0.15m
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19.

20.

An experiment measures a, b and c and then x is

1/24.2

calculated from x =2 If the percentage

C3

etrors in a, b and ¢ are + 1%, = 3% and + 2 %
then the maximum percentage error in X is :-

(1) 12.5 % 2)7 %
1% 4) 4%

The graph shows the variation with time t of
velocity v of an object moving along a straight

line.
VA

4
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21.

22,

23.

24,

25,

INTEGER TYPE

An engine pumps water through a hose pipe.
Water passes through the pipe and leaves it with
a velocity of 2 m/s. The mass per unit length of
water in the pipe is 100 kg/m. the power

of the engine is 400 x watt where value of x is

A cylindrical metallic rod in thermal contact with
two reservoirs of heat at its two ends conducts an
amount of heat Q in time t. The metallic rod is
melted and the material is formed into a rod of half
the radius of the original rod. What is the amount
of heat conducted by the new rod, when placed in
themmal contact with the two reservoirs in time t:-

3 where value of x is

8x

A mass of 2.0 kg is put on a flat pan attached to
a vertical spring fixed on the ground as shown in
the figure. The mass of the spring and the pan is
negligible. When pressed slightly and released the
mass executes a simple harmonic motion. The
spring constant is 200N/m. be the

minimum amplitude of the motion so that the mass
gets detached from the pan s 2x cm

where value of x is m

(Take g = 10 m/s%)

Assuming the sun to have a spherical outer
surface of radius r, radiating like a black body
at temperature t°C, the power received by a unit
surface, (normal to the incident rays) at distance
R from the centre of tha Sun is :-

T
rPo(t+273)F where value of x is
Where o is the Stefan's constant.

A particle executes simple harmonic oscillation
with an amplitude a. The period of oscillation
is T. The minimum time taken by the particle
to travel half of the amplitude from the
equilibriwm position is equilibrium is

T
g where value of x is
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26.

27.

28.

29.

30.

31.

.. CHEM
At what temperature will the r.m.s velocity of SO,
gas be the same as that of O, gas at 303 K :-

(1)403 K (2) 303 K
(3) 606 K 4) 273 K
Which shows maximum metallic character :-
(1) Li (2) Ca
3K (4) Ba
Correct order of dipole moment is :-

OH Cl

NO, Cl
g™ o
CH,

(I[I) @,CHs
WM)I=0IO=II0 2)I<I<IO
BGI>0IO>1II @ OD<II<I
For the process
X(g) + e — X(g), AH = x
and X(g) > X(g)+e, AH=y

Select correct alternate :-

(1) ionisation energy of X(g) is y
(2) electron affinity of X(g) is x
(3) electron affinity of X(g) is —y
(4) all are correct statements

Which one of the following arrangement does not
truly represent the property indicated against it?
(1) Br, < Cl, < F, : Oxidising power

(2) Br < Cl < F : Electronegativity

(3) Br < F < Cl : Electron affinity

(4) Br, < Cl, < F, : Bond energy

The entropy change during an isothermal
expansion of an ideal gas from V, to V, at
temperature T is given by :-

(1H)AS=0

(2) AS =2.303 R log,, V,/V,

(3) AS =2.303 RT log,, V,/V,

(4) AS = 2.303 R log,, V,/V,

S
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fFa @ W SO, 9 %1 rm.s. 31 303 K W O, i
% rm.s @T%W’Eﬁ"ﬂ =

(1) 403 K (2) 303 K
(3) 606 K (4) 273 K
HITE Falt tifeas &0 SuE Al © -
(1) Li () Ca
(3)K (4) Ba
ey et #1 wE wE -

OH Cl
a0 @NQ i @,Cl

CH,

) CH,
(1)I=1I = II @) I<II <l
(3)1>1I > II @IM<M<I
e YT -
X(g) + e — X(g), AH = x
and X(g) > X(g)+e, AH=y

w& fawew gy

(1) X~(g) 1 3T fova y @
2) X(g) # ToTRI YT x
(3) X(g) it TR AYW -y T
(@) Tt o W §

St o1 gAfera TE -
(1) Br, < Cl, < F, : Oxidising power

(2) Br < Cl1 < F : Electronegativity
(3) Br < F < Cl : Electron affinity
(4) Br, < Cl, < F, : Bond energy

3TEY! 719 Y TN ek | g Ay T W ST V,
J vV, 7% faemfia 0 w g § ftada fen
SR -

(1) AS =0

(2) AS = 2.303 Rlog,, V,/V,

(3) AS = 2.303 RT log,, V,/V,

(4) AS = 2303 Rlog,, V,/V,
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32.

33.

34.

35.

36.

37.

38.

The value of vander Waals' constant ‘a’ for the
gases O, N, NH, and CH, are 1.360, 1.390, 4.170
and 2.253 L? atm mol? respectively. The gas
which can most easily be liquified is :-

1o, (2)N, (3) NH, 4)CH,

For a reaction P + Q —» R + S. The value of
AH is =30 kJ/mol and AS is =100 J/mol. At what
temperature, the reaction will be at equilibrium:-
(1) 27°C (2) 52°C
(3) 30°C (4) 45°C

Which is correct for catalyst ?

(1) A catalyst can initiate a reaction

(2) A negative catalyst can decrease the
activation energy

(3) A catalyst can't change the enthalpy of
reaction

(4) A catalyst can increases the rate of forward
reaction and decreases that of the backward

reaction [For a reversible reaction]
Solubility product of radium sulphate is 4 x 107!, What
will be the solubility of Ra** in 0.1M Na,SO,:-
(14 % 1o (2) 2 x 107
(3) 4 x107° (4)2 x 107°

The percentage Ionic character of the HBr

molecule, if the dipole moment is 0.63 D & HBr

bond length 187.5 Pm is ?

(1) 17% (2) 7% 3) 27% (4) 47%

The principal reason that the melting point of NaF

is much higher then that of RbBr is that :-

(1) the two crystals are not isomorphs

(2) the molar mass of NaF is smaller than that of
RDbBr

(3) the bond in RbBr has more covalent character
than that the bond in NaF.

(4) the internuclear distance (r* +17) is greater for
RbBr than for NaF

Which of the following order is correct ?

(1) Si-Si > C-C > Ge-Ge (Bond energy)

(2) H-H > F-F > C-C (Bond energy)

(3) Ge < Sn < Pb (ability of ns’e to participate
in bonding)

(4) SiH, > SnH, > PbH, > CH, (easy of
hydrolysis)
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arstaE faar® ‘a” %191 0, N, NH, @@ CH,
% faT www: 1.360, 1.390, 4.170 5

2.253 L2 atm mol 2 & 79 St werd et | gfaa
B -
1) 0,

(2N, (3) NH,

o sfufp P+ Q > R + S & && AH &1 919

—30 kJ/mol T AS &1 HF —100 J/mol ¥ 1 fg arg

T eAffeRan gremeen § 8-

(1) 27°C (2) 52°C

(3) 30°C (4) 45°C

= # & ;e fowed e & fau o

(1) 38 T AfUfEHa il TRY L Fohdl B

(2) BUCH 3cUXh, AfHA0 el ol FH hY Tehal
7

(3) 3, sAfufeman &t Tdedt w1 ufafia 7@ w2
T 7

(4) 3EATH, T ATIFHAT HT T ! dQT a0 9T9d
fafean &1 ST 1 FH FX FGha T (T
Sehrvita stfufwan & fer)

feam gothe 1 faotaar ToFwa 4 x 107" €1

0.1M Na,SO, # Ra** =1 facrar i 8 -

(1) 4 x 10710 (2) 2 x 107

(3) 4 x 107° (453w lo-e

(4)CH,

afg HBr 1] o1 fggd AUl 0.63 D e &Y orvaig

187.5 Pm &l HBr 319] & Wfaera emafes werr a2

(1) 17% (2) 7%

(3) 27% 4) 47%

NaF o1 TTefieh, RbBr ¥ sigd 31f4eh 8T €, ol 356k

& FR0 ¢ -

(1) 2 freee R & &

(2) NaF T Hiel g8, RbBr & 7 Il 7|

(3) RbBr ¥ Sufterd =4 # We@aseh @& NaF &
sufterd iy ¥ fus 2 Tl

(4) RbBr & ferdl ST=ifsehtd g8 (" + 1) NaF &1
qor § atferes et B

= # @ FE wE wE E 2

(1) Si-Si > C—C > Ge-Ge (34 Zsh)

(2) H-H > F-F > C-C (9% %91)

(3) Ge < Sn < Pb (991 H ns’e” & ISRl &1
)

(4) SiH,> SnH, > PbH, > CH, (Se1eTqse {raesf
T 79
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39.

40.

41.

42.

43.

44,

45,

Which of the following order is correct ?

(1) He > Ne > Ar > Kr (Adsorption tendency)
(2) He > Ne > Ar > Kr (Critical temperature)
(3) He > Ne > Ar > Kr (Boiling point)

(4) Xe > Kr > Ar > Ne (Polarisation)

The species having pyramidal shape is :-
(1) SO, (2) BrF,
(3) Si02” (4) OSE,

Which one of the following anions is present in
the chain structure of silicates ?

(1) (8i,09), (2) (8i0]"),

(3) (Si0}), @) Si,05

Borax bead on heating with cobalt oxide forms
a bead of :-

1) CO(Boz)z

(3) Co,(BO,),

(2) CoBO,

(4) Na,Co(BO,),
H,0, acts as a reducing agent in :

(1) FeCl, + HC1 + H,0, — FeCl; + H,O
(2) C1, + H)O,— HCl + O,

(3) HI + H,0, — L, + H,0

(4) H,S0, + H,0, — H,SO, + H,0

Which of the following solutions has the
highest pH ?

(1) 0.10 M KNO,
(3) 0.10 M NH,C1

(2) 0.10 M AIC,
(4) 0.10 M CH,NH,

The correct formula to calculate the hydroxyl ion
concentration of an aqueous solution of

(]
C,H,NH; CI" is

1 CK, 5 K, xK,
OIS @ =
CK

3)

w @ ’Kn xK,
K, C

CREATING SCHOLARS
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39. fr § § G %H TR E 02

40.

41.

42.

43.

44,

45,

(1) He > Ne > Ar > Kr (ifueioor wmes)
(2) He > Ne > Ar > Kr (F1f<iek @)

(3) He > Ne > Ar > Kr (F99Te)

(4) Xe > Kr > Ar > Ne (¥d0rd)

HAE Thvie fRfaE o 2 -

(1) SO, (2) BiF,

(3) Si0}" (4) OSF,

HE ST T fafaee o sufeem gt 72
(1) (8,02, (2) (8i0)"),

3) (Si0)),

AR HAH1 ] HieTee ATFHEES B WY TH HH )
foraah o o -

(1) Co(BO,), (2) CoBO,

3) COS(Boa)z (4) NazCo(Bos)2
H,0, f7 # ¥ fFw wew § s1o=mas #1 7@ 14
Al 8-

(1) FeCl, + HC1 + H,0, —> FeCl, + H,0
) Cl, + H,0, —> HCl + O,

(3)HI + H,0, —> L, + H,0

(4) H,S0, + H,0, —> H,S0, + H,0

frer ® @ form faeram =Y pH watfues gt 2

(1) 0.10 M KNO, (2) 0.10 M AICI,

(3) 0.10 M NH,Cl1 (4) 0.10 M CH;NH,

. 60—
(4) 5i,05

EEL chSNf-’I; clI” % fou faoem # T
st &t wiga e g gu s owwd
%

CK, K, xK,
M\, (2 1/—(:—

CK, K, xK,
Gy K 4 \l C
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46.

47.

48.

49,

50.

INTEGER TYPE

How many unpaired electrons are in gaseous Fe?
ion in the ground state ?

When an atom is placed in a magnetic field the
possible number of orientations for orbitals of
azimuthal quantum number 3 is :-

For the reaction a + b ——= ¢ + d initially
concentrations of a and b are equal and at
equilibrium the concentration of d will be twice
of that of a. What will be the equilibrium constant
for reaction : -
A molecule of the type AX has square pyramidal
geometry hence number of lone pairs on 'A'is :-
(D1 (2) 2 (3) 3 (4) 4
Number of sp hybridised carbon atom in the given
compound is :

CH,=CH-C=C-CH-CN

(D1 ()2 33 (4) 4

AVIRAL CLASSES

CREATING SCHOLARS

46.

47.

48.

49.

50.

Fe?+ o1 =Y Treftar svereen # forem ergfiv st
B 2

v Rt ) A gk 8§ T S © A
el et wean 3 & T warehl & forardl =
Hryg &A1 B i-

AR a+b —— c+d & fa ad b =i TH
Yreard, SeR & T 9remese I d ) 9rEdl a 9
A 2t 71 sifafsren & foard wrer Reie @1 WH

BT -

AX  JehT 31 Tk 319, SR g e At Terd

T A’ TR SR THThT T T AT T -

(1 22 3)3 (4) 4

fod T Hifir | sp HRRa C T w1 gEed

€

CH,=CH-C=C-CH,CN
(2)2 (3)3

(H1 “4) 4
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51.

52.

53.

54.

55.

56.

MATHEMATICS

The real value of 8 for which the expression

1+icos® . i
T-2icoso 52 real number is (n < I)
(D 2n+ ) 2)@2n+ /2
(3)2n= (4) None of these

If m and o® are the mean and variance of
random variable x, whose distribution is
given by

X=x |0[1]2]|3|4
111 1 , then
PX=x)|=|=10]|=10
312 6
(H)m=c>=2 Qym=1,6=2
BYm=c’=1 @ m=20°=1
Value of
45in9°sin21°sin39°sin 51°sin 69°sin§1°
sin 54°
is equal to
) — 2) —
() 6 (2) 32
. ol
3y “

The value of ‘p’ so that both the roots of the
equation (p — 5)x2 — 2px + (p — 4) = 0 are
positive, one is less than 2 and other is lying
between 2 & 3, lies in the interval

(1) (?,24]

49
(3) (=0, 4) U [T' 00] (4) None of these

(2) (5, )

The value of

"ng+"Q(§1q]+"q(§-‘q]+ ...... +q[2c]

is equal to
(1)2" (2)3"
3)3"-1) #H@E"+1)

Let B, =3x+4y-7=0&B,=4x-3y—-14=0
are angle bisectors of the angle between the
lines L, = 0 & L, = 0 in which L is passes
through the point (1, 2) then

(1) B, is acute angle bisector

(2) B, is acute angle bisector

(3) B, & B, both are right angle bisector

(4) Data is insufficient

Y

AVIRAL CLASSES

cccccccccccccccc

51.

52.

53.

54.

55.

56.

9 P arargs HME fages fad a9+

1+icosB

T @Wﬁ’lﬁm%,am(ne I
—2icos0

(1) 2n+ )n (2) 2n+ D2
(3)2nn (4) T4 I =K &
IS m A o> AGTIAT =R x 1 HIEA T TERI,
TSt sea f= g

X=x

21314
0 fem T d, @

P(X =x)

W=
N =] =

6

Q)m=1,c=2
@m=2,6=1

(H)m=c?=2
BG)m=c=1

4sin9°sin 21°sin39°sin 51°sin 69°sin81°

sin 54°
1 HH S B-
1 1
O @) 33
( )8 *) 5

‘p’ 1 A, T THHIO

(p— 5)x2 - 2px + (p — 4) = 0 % Tl 7@
e o, Fored 9 T ge 2 | w9 au o= e
2 7o 3 & qe feora &, fet stwawet & feerd @m-

(1) [1—9,24]

) (o, ) U (2] (@) T et

(2) (3, )

"C,i‘C,+“C{izcrj+“c{isqj+ ...... +“C{i“q)

1 HA S -
(1)2" (2) 3"
3)3"-1) 43" +1)

HAB, =3x+4y—-7=074B,=4x-3y—14=0,
@i L, = 0 941 L, = 0 & [Lq 101 & il
g ¢ fomd Y L, fag (1, 2) 9 et §, -
(1) B, T AT 75 BT |

(2) B, T AR TG B |

(3) B, 7T B, i SHHI0T TG BN |

(4) 3T A B
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57.

58.

59.

60.

61.

62.

63

ABC is a variable triangle such that A is (1, 2),
B and C lie on line y = x + A (where A is a
variable), then locus of the orthocenter of
triangle ABC is

(1) (x= 12 +y* =4
(3)2x—y=0

If domain of function f(x)=,/(n(msinx+4)

is R, then number of possible integral
values of m is

(1) 3
(3)6

2yx+y=3
(4) none of these

(2) 4
(4)7

Locus of a point which moves so that its
distance from the origin is thrice its
distance from y = 2x is-

(1) a straight line

(2) a pair of straight lines

(3) a circle

(4) a parabola

Triangle formed by the lines 3x +y + 4 =0,
3x + 4y — 15 =0 and 24x — 7y = 3 is a/an
(1) equilateral triangle

(2) isosceles triangle

(3) acute angle triangle

(4) scalene triangle

Let a, b, c are roots of equation x3+ 8x+ 1 =0,

then the value of

be A ac n ab
(8b+1)(Bc+1) (Ba+1)(8c+1) (Ba+1)8b+1)

is equal to
(1)0 (2)-8
(8)-16 (4) 16

If the sum of the first 11 terms of the series

2 2 2 2
(1£) +(1§J +(1§J +22+(2EJ S is
7 7 7 7

1—71k, then A is equal to

(1) 36 (2) 37 (3) 38 (4) 39
LetP,:y=—=x*+4x+2and P,:x* + 6x +
17

§= y are two parabolas, then number of

common tangents of P, and P, is -
(10 (2) 1
(3) 2 (4) 3

)| AVIRAL CLASSES
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57.

58.

59.

60.

61.

62.

63

ABC T% =R {33 50 y&R § 5 A(1, 2), B e
CT@y=x+\ (S A TR e) W feermadt, at Byw

ABC & @ 1 farmgae grm-
(Lm-1y+y=4 Raty=3
(3)2x-y=0 (4) T 9 HIE T

e He f(x)=\/€n(msinx+4) & U R
B, T m & HYS YUl A HI e a-

(1) 3 (2) 4

(3)6 4)7

w forg 1 farguer, S 39 woR Tifa sean ® T
Wﬁm@{a,mmy=2x@@ﬁ
¥ T, B

(1) T TS @ et |

(2) T @3l 1 T H T |

(3) Wk T B |

(4) TS I B

@Rl 3x +y+4=0, 3x + 4y — 15 = 0 qell
24x—7y=3§mﬁﬁﬁﬁﬁﬁ—

(1) T FHg oyt g

(2) Tk FHfgeTg st g |

(3) TR =T =T B |

(4) Weh forereg 513 =i |

Tl a, b, cHHE X3+ 8x + 1=0% FA &, A

be " ac n ab
(8b+1)(Bc+1) (8a+1)8c+1) (8a+1)(8b+1)

1 HT9 &I-

(1o (2)-8
(3)-16 (4) 16
afg oft

2 2 2 2
Lléj +(1§j +(1§] +22+(21] Fon =y
7 7 7 7
umllqﬁmvﬂw%x B1, A1 A 1A BT-

(1) 36 (2) 37 (3) 38
HAIP, 1y =—x>+4x + 270

(4) 39

17
P,:x%+ Bx + §:y?ﬁm'@,?ﬁPlﬁﬂTP2

1 IvfTes T3l TaEnstl = T Bhi-
(1) 0 (2) 1
(3) 2 4)3
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64.

65.

66.

67.

68.

69.

70.

Let S = 0 is the locus of centre of a
variable circle which intersect the circle
x2 + y? — 4x — 6y = 0 orthogonally at (4, 6). If
P is a variable point of S = 0, then least
value of OP is (where O is origin) -

(1) V13 (@ 2413
(3)10 (4) 13
Number of integral values of a for which
smaller root of quadratic equation
x2 — 2ax — 4 + a%2 =0 is smaller than 1 and
bigger root is greater than 6 is -
o 2)1
3)2 (4) infinite values
Let a circle S = 0 touches both the circles
x2+y2=400 and x2+y?>—10x - 24y +120=0
externally and also touches x-axis. The
radius of circle S = 0 is -
(1)200  (2)33  (3)120  (4)240
Length of latus rectum of the parabola
9x2 + 16y?% + 24xy — 4x+ 3y =0 is -

1
@) 5

1 1
D5 @7 (4) 1

P and Q are two points on the parabola
y2 = 8x and S is its focus. PS and QS meet
the curve again in T and R respectively. If
PQ passes through a fixed point (-2, 3),

then TR also passes through a fixed point
whose coordinates are

(1) (2, -3) 2 (3,-2)
3) (-2, 3) (4) (3,2

Slope of common tangents of parabola

2
(x—1)®2=4(y — 2) and ellipse (x—1)* +% =

are m; and m,, then m? + m? is equal to -

(1) 2 2) 3 (3) 4 (4)6

If x,y, z e R*are suchthat z>y >x > 1,
5 10

logyx + logy = 5 and logy + logyz = 3

then log z is equal to -

(1) 2 2) 3 (3) 6 (4) 12

. )| AVIRAL CLASSES
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64.

65.

66.

67.

68.

69.

70.

M S = 0, T T JA & &g o {599 8, 5t i
A x2 + y2 —4x — 6y = 0 &I 95 (4, 6) W
TR gfase w €1 Ak P, S = 0
™ R fag 8, @ OP &1 =Ta8 AT §M
(STt O Teiferg ©) -

(1) V13 @) 2413

(3) 10 (4) 13

'a' & YUt A Ht He, fowes fad fgem
A x2 — 2ax — 4 + a?= 0 FIBRIHA 1 |
%1 7 551 7 6 T aAfer ¥, Aeft-

(1o 21

(3)2 (4) 3T HH B |
A TH I S =07, S S Fl x2+ y2 =400 TqeM
x2 + y2— 10x — 24y + 120 = 0 = 9TRJ T har
T A x-37 B off Tl HA R g S = 0 F
oo gmit-

(1)200 (233  (3)120  (4)240

TEeT 9x2 + 16y% + 24xy —4x + 3y =0 &
Tif¥eTa i oTFITg SR -

1 1 1
(1) 20 (2 1 (3) 5

< fog P a2 Q Waad y? = 8x W fea g qen S
THE! 9 ¥1 PS 791 QS T 1 TA: HHE: T
e R W ferdt €1 afs PQ W o famg (-2, 3)
{ T &, @ TR ot wh fera fog & e,
e faees Bi-

(1) (2, -3) 2) 3, -2)

(3) -2, 3) 4) (-3, 2)

A (x — 1)2 = 4(y — 2) T &reiga
(x — 1)2 +@=1 F VIS TI¥1 Y@

) FAOAE m, T m, &, T m? + m2 A e
(1) 2 (2)3 (3)4 (4)6
e x, v, z eR*E’HW%ﬁz>y>x> 1,

(4) 1

5 10
logyx + logy = 9 el log,y + logyz = ?Eﬁ’
M log, z =1 HH BT~
(1) 2 (2)3

3) 6 (4) 12
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72.

73.

74.

75.

INTEGER TYPE

. 2 3m
2y SID ) equals to :

Number of common tangents of the

2 2
ellipse (x—92) +(y-;2) =1 and the circle

X +y—4x+2y+4=0is-
If f{a) = a? + a+ 1, then number of solutions of

equation f{a?) = 3f(a) is

The graph of y = f(x) is shown then number
of solutions of the equation f{f(x)) =2 is

@3
-3,2)

/L,z
/}6(2)

-5.-1) 5.-1)

If f{x) satisfies {7 — x) = {7 + X) V x € R such
that f{x) has exactly 5 real roots which are all
distinct such that sum of'the real roots is S then
S/7 is equal to

3| AVIRAL CLASSES

ssssssss

. .37
smz? S BT
Losec i

72. Seigw (X;2)2+(y“;2)2=1 qen g
X2+ Y2 —4x + 2y +4 = 0 1 WSS w9t T
Eaksre: By

73.  4fg fla) = a? + a+ 1 &, O FHHW f{a?) = 3f(a)
& gl o weA et

74. y = f(x) 1 IR@ faAaR &, @ THH
f(f(x)) =2 & &l St T B~

23
(-3,2)

VA RN

6,-1)

5-1)

75. e f(x), {7 - x)={7 +x) V x € R I T &K
IS H & FoF f(x) & 3k 5 arafass qa & aen
T} 7t o= & e amafereh el 1 AR S &,
@ S/7 S BM-
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